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- According to classical mechanics and
electromagnetism, what will happen to an
electron orbiting a nucleus?

A) It orbits at a constant speed; no radiation is

emitted.

B) It continuously emits radiation at a conStant
wavelength.

- O) It emits radation and spirals into the nucleys.

D) It emits radiation and flies away from the |
nucleus,




10/17/2008 11:28 JFAX » Mark Van Raamsdo [4004/004

According to classical mechanics and
electromagnetism, what will happen to an
electron orbiting a nucleus?

A) It orbits at a constant speed; no radiation is
emitted.

B) It continuously emits radiation at a constant
wavelength.

@t emits radation and spirals into the nucleus.

D) It emits radiation and flies away from the
nucleus.
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